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Section : General Intelligence
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Ans o1 (125, 216, 343)
v 2 (63, 124, 215)
X 3 (63, 123, 213)

X 4 (126, 217, 344)

Question ID : 8161612867
Status : Answered
Chosen Option : 2
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Q.2 Select the option in which the words share the same relationship as that shared by the given pair of words.

Syringe : Piston

Ans < 1. Vehicle : Passenger
/< 2. Bulb: Light
« 3. Tyre : Tube
/< 4 Balloon : Air

Question ID : 8161612878
Status : Answered
Chosen Option : 4

Q.3  Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster.

STOP : HGLK :: LAMB : ?

Ans X1 PYOX
v 2 OZNY
& 3. NCOD
X 4 IYKZ

Question ID : 8161612874
Status : Not Answered
Chosen Option : --

Q4 o 3 el ¥ o 3R @ I W, D T PR F w g9ur wfafiE @ aue FY

Ko

Ans

K2

@
x3.@
@

Question ID : 8161612887
Status : Answered
Chosen Option : 4
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Q.5 Four different positions of the same dice are shown. Select the number that will be on the face opposite to the face
having number ‘6°.
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Question ID : 8161612882
Status : Answered
Chosen Option: 3
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Ans X1 ETICNGAM
X 2. CIETNGAM
X 3. GAMNECIT
v 4 CITENGAM

Question ID : 8161612872
Status : Answered
Chosen Option : 4

Q.7  Select the option in which the numbers are related in the same way as are the numbers of the following
set.
(11,57, 8)

Ans 1. (18, 89, 15)
o 2 (15,81, 12)
75 3. (15,38,13)
X 4 (12,64, 10)

Question ID : 8161612868
Status : Not Answered
Chosen Option : --
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Question ID : 8161612881
Status : Answered
Chosen Option : 4

Q.9 Which letter will replace the question mark (?) to complete the following series?
E LM 2,X
Ans x 1. Q
X2T
v R
Xas

Question ID : 8161612871
Status : Answered
Chosen Option: 3

Q.10 Select the option in which the mumbers share the same relationship as that shared by the given pair of numbers.
12:64

Ans X1 131 65
< 2 11:56
X3 16:76
v414:72

Question ID : 8161612866
Status : Answered
Chosen Option : 4
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Q.11 Which letter-cluster will replace the question mark (?) to complete the following series?

PGD, SEE, VCF, ?, ?

Ans X 1. YAD, BYH
v 2 YAG,BYH
X 3. ZBD, CYI
X 4 YAH. BZH

Question ID : 8161612876
Status : Answered
Chosen Option : 2

Q.12 Ina certain code language, TIFFIN is coded as 67 and BOX is coded as 44. How will CARDBOARD be coded as in
that language?

Ans  of 1. 69
X2 67
< 3 66
X 4 64

Question ID : 8161612873
Status : Answered
Chosen Option: 1
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Question ID : 8161612877
Status : Answered
Chosen Option : 2
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Question ID : 8161612875
Status : Answered
Chosen Option : 4
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Q.15

How many triangles are present in the following figure?

Ans X114
v 2 16
<3 18
X412

Question ID : 8161612884
Status : Answered
Chosen Option : 1

Q.16 Select the number that can replace the question mark (?) in the following series.

2,2,6,10,22,42,7
Ans  of 1. 86
<284
< 3 64
<482

Question ID : 8161612869
Status : Answered
Chosen Option : 4
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Q.17 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?
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Question ID : 8161612886

Status : Answered

Chosen Option : 2
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Question ID : 8161612885

Status : Not Answered

Chosen Option : --
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Q.19 study the given pattern carefully and select the number that can replace the question mark (?) in it.

150 25 100

132 22 88

162 % 108

Ans x 1. 20

Question ID : 8161612864
Status : Not Answered
Chosen Option : --
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Question ID : 8161612888
Status : Answered
Chosen Option : 4
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Q.21 If'+' means '+ ;' means -, '+' means '+ and - means '<". Then find the value of following expression.
184+ 2 -5x6+4=7

Ans x 1. 47

v 2 43
X3 45
K4 125

Question ID : 8161612870
Status : Answered
Chosen Option : 2

Q.22 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Ans X' 1. NKHEB
X 2. SPMIG
« 3. FHLQR
X< 4 UROLI

Question ID : 8161612879
Status : Answered
Chosen Option : 3

Q23 gelect the option figure that will come next in the following series.
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Question ID : 8161612883
Status : Answered
Chosen Option : 4
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Q.24 Which two signs should be interchanged in the following equation to make it correct?

78 -6 x4-3+9 =10
Ans 1.+ and +

2 —and X

X 3 + and—

< 4 X and +

Question ID : 8161612865
Status : Answered
Chosen Option: 2

Q.25 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Ans X1 ILPU
v 2 YVRO
« 3. ORVA
< 4 ADHM

Question ID : 8161612880
Status : Answered
Chosen Option: 2
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